AN U.S.BASED
BN SUopoRT

OFF-ROAD

HOURS: MONDAY - FRIDAY | 8AM - 5PM EST

G 1.410.840.3555

® support@iagoffroad.com

VIDEO INSTRUCTIONS

https://www.youtube.com/
watch?v=MmgXp8S8ygO Y

BN


tel:14108403555
mailto:support@iagoffroad.com
https://www.youtube.com/watch?v=MmgXp8S8yg0
https://www.youtube.com/watch?v=MmgXp8S8yg0
https://www.youtube.com/watch?v=MmgXp8S8yg0

IAG Multilevel Tailgate Table
For 2021+ Bronco

OFF-ROAD




AN

IAG-ACC-F1082, IAG Multilevel Tailgate Table
For 2021+ Bronco

Congratulations on the purchase of your Tailgate Table and thank you for
choosing IAG Off Road! These instructions are intended for users with basic
mechanical skills. Professional installation is not required.

Installation video can be found on our website, or by using the following
QR code.

Scan or click QR code for
instruction video.

Tools Needed:

Socket/Wrench Sizes:
e 8mm and 10mm
e 3mm Allen
Other Tools:
e Plastic Trim Pry Tool
e Pocket Flathead Screwdriver



https://www.youtube.com/watch?v=MmgXp8S8yg0

Contents:
1 Tailgate Table

Bottle Opener
(X4) 3mm Allen Bolts

2

=

TS Y

Hardware: (X4) M5 T Nut

(X4) M5 Nut (8mm)

(X4) M6 T Nut
(X4) M6 Nut (10mm)

S (X4) M5 Washer
6 (X2) M6 Washer

7 (X6) Black Washers

8 (X4) Lock Nut (8mm)

9 (X2) Lock Nut (10mm)




Step1

Using a plastic trim pry tool,
remove the interior trim
panel from the tailgate.

Step 2
Prepare the M5 T Studs with
Washers and Nuts.

Insert the T Stud into the
upper slots of the tailgate.

3 S

J11d oo
® @ e @ © O

/|

= |screwdriver may be needed to

Step 2 pt. 2

Insert the four M5 T Studs
into the shown locations.

Using an 8mm wrench
tighten the nuts. (7/Nm)

Note: A small flathead pocket

prevent the T Studs from rotating.
Insert the pocket screwdriver

| [through the slots in the tailgate, and
hold the T Stud in place.




Step 3

Prepare the M6 T Studs with
Washers and Nuts.

Insert the T Stud into the
lower slots of the tailgate.

4 6
4Ll o
e o O

Step 3 pt. 2

Insert the two M6 T Studs
into the shown locations.

Using an 10mm wrench
tighten the nuts. (1ONm)

Note: A small flathead pocket
screwdriver may be needed to
prevent the T Studs from rotating.
Insert the pocket screwdriver
through the slots in the tailgate, and
hold the T Stud in place.

Step 4

Install Oversized Washers
onto the matching T Studs.

00
00
00 -




Step 5

Place the Tailgate Table in
the open position.

Install the Tailgate Table onto
the Tailgate.

Step 6

Install the Black Washers
onto the upper studs.

Install the 8mm Lock Nuts
onto the Studs and tighten.
(7Nm)

7 8
oNo) e
oJo @

Step 7

Install the Black Washers
onto the lower studs.

Install the 10mm Lock Nuts
onto the Studs and tighten.
(10Nm)

7 9
OO0 o0




Step 8

Prepare the Provided IAG
Bottle Opener.

2

=

TS Y

Step 9

Install Bottle opener onto
desired MOLLE Panel with
provided 3mm Allen Bolts

/\\iﬁl

OFF-ROAD

If you have any questions about the product or install please
reach out to support@iagoffroad.com or call 410-840-3555




